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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,592 85951 40,945 45,006
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
RIRET3T 177 582 283 299
RIRET4T 425 978 483 495
B 635 1,633 803 830
REH 2,766 6,134 2,863 3,271
L&A 4,343 9,359 4,365 4,994
5E 2,659 5,852 2,829 3,023
B AN 1,331 2,837 1,327 1,510
BERT 1,420 1,955 939 1,016
BER2T 929 1,628 794 834
BERST 762 1,835 878 957
B 3,111 5,418 2,611 2,807
BEXRE 289 644 311 333
= 2,177 4,762 2,267 2,495
hERE 637 1,401 644 757
aE 2,425 4,962 2,395 2,567
25 L ET 2,338 4,982 2,388 2,594
B &AL BT 76 151 63 88
HEFILET1T 567 1,222 569 653
HEFILET2T 603 1,237 585 652
HEZFILAT3T 689 1,549 752 797
g 1,935 4,159 1,969 2,190
B & it B Fr ET 680 1,523 735 788
BHEREBET1T 585 1,175 579 596
BHERERET2T 763 1,696 827 869
BHERERETST 796 1,583 720 863
BHERERET4T 505 913 422 491
HEKERETST 830 1,648 789 859
HEERET6T 894 1,877 911 966
BHERERET7T 894 1,818 882 936
HERERETST 72 202 97 105
£t| 5339 10912 5,227 5,685
HEF R FET 2,004 4,098 1,998 2,100
S|EFET1T 642 1,588 786 802
S|EFET2T 768 1,719 808 911
S|EFET3 T 749 1,366 630 736
g 2,159 4673 2,224 2,449
ERE1T 586 1,311 629 682
EIRET2T 385 1,024 507 517
EREIST 519 1,307 642 665
EIRETAT 700 1,439 634 805
EIZEIST 555 1,193 590 603
g 2,745 6,274 3,002 3,272
M EFHE 2,916 6,143 2,899 3,244
J\THET1T 31 33 16 17
J\THET2T 23 50 26 24
J\THEI3T 49 102 46 56
B 103 185 88 97
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